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Note : (1) Attempt as many questions as you can. Each question carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question.
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(2) If more than one alternative answers scem to be approximate to the correct
answer, choose the closest one.
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1. Which of the following variables is ordinal?
(1) Age in years (0-4, 5-14, 15-49, etc.,)
(2) Type of carcinoma (breast, lung, cervix, etc.,)

(3) Likert scale (strongly agree, agree, disagree, strongly disagree)
(4) Sex (male, female)
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2. Which of the following is not a discrete variable?
(1) Number of children in the family
(2) Number of relapses of a particular disease during hospital stay
(3) Number of ICU deaths in the hospital
(4) Serum albumin level

3. Which of the following is not a continuous variable?

(1) Body mass index
(2) Serum creatinine level

(3) Number of lymph nodes in a patient with breast cancer
(4) Systolic blood pressure

4. The gender of new born babies, born in a year is said to follow a binomial distribution
because : '

(i) Gender is dichotomous (male, femal®)
(i) The occurrence of gender in each birth is independent of the other

(i) The sex ratio remains approximately the same throughout the year

Indicate the correct option

(1) () and (i) (2) () and (i) (3) (i) and (iii) (4) Only (i)

5. Which of the following does not follow a Poisson distribution?
(1) Number of children in the family

(2) Number of hospital infection in a month
(3) Number of deaths due to electric accidents

(4) Number of triplets births in a hospital in year

(181) o
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The digstolic BP of sormal aduits in a.population is normally diatributed with mean
76'5 mm Hg and SD 122 mm Hg. Then what proportion of the population will have
their dissiiile BP between 64-3 mm Hg and 887 mm Hg?

(1) Abouridustter = : (2) Abeut ¢hree quarter
(3) About two-third (4) About half

Scatter diagram shows

(1) trend with the passage of time

(2) frequency distribution of a continucus variable
(3) relation between minimum and maximum values

*(4) relation between two variables

Cumulative frequencies are represented by

(1) Histogram (2} Limc disgram (3) Pictogram (4) Ogive

The best way to show relationship between height and weight of children in a class is
(1) Bar diagram | (2) Line diagram

(3) Scatter diagram ' (4) Histogram

A cohort study is not a

(1) case control study (2) follow-up study

3) prospective study (4) longitudinal study

Incidence is the number of new cases occurring in the target population in a specified
period. For finding out incidence rate of diabetes in a population of age 60 years or
more, we will plan

(1) prospective study mwwm’ ._’ p_
(3) retrospective study “ :m#w“ gnilgmer %)

.3 (P.7.0.)
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12. Matching in case control studies is done to contral uncertainties due, to
(1) sampling fluctuation (2) lack of statistical power

. '
(3) loss of patients in follow-up (4) bias due to confounders

13. Longitudinal studies
(1) are easy to conduct

(2) provide incidence of a discase
(3) are good for studying singie outcome

(4) are economical

14. A case control study

(1) is done to generate a hypothesis

(2) requires large number of subjects in study and control groups
(3) cannot be retrospective

(4) is an analytical att_;dy

15. Which of the following is non-random sampling procedure?
(1) Stratified sampling (2) Quota sampling

(3) Cluster sampling (4) Multi-stage sampling

16. The major advantage in a probability sample compared to a non-probability sample, is
that '

(1) it saves time
(2) it costs less
(3) it enables to compare average value

(4) sampling error can be estimated

(181) - 4
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In a survey of household expendjture on health, every 4th houschold in each block is
studied. The sampling plan will be called as

(1) simple random sampling (2) aw random sampling

(3) cluster sampling (4) systematic sampling

The sampling plan to economize the cost in large national studies, is

(1) quota sampling _(2) mult'.-i-at;ge sampling
(3) simple random sampling 4) atratiﬁéd ra:ﬁdom' sampling

The population about which wé want to make inferences from sample is called :
" (i) Reference population
(i) Study population
(iii) Ideal population
(iv) Target population

Indicate the correct option

(!Il (i) and (iii) (2) (i) and (iv) (3) ) and (iv) (4) (i), (1) and (iii)

A Paediatrician wanted to estimate prevalence rate of a disease in a sample of schools,
selected at random in a large city. She wanted to give effective treatment to those found
ill and so, it was preferable to examine all pupils in the selected schools, rather than
just a sample of them in each selected school. Which uamphng methad; Paedutruan
should use?

(1) Systematic sampling (2) Simple random sampling
(3) Stratified random sampling (4) Chuster sampling

5 (P.T0)
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A study wes. candueted in a sample of 106 patients to estimate the mean blood cell
folate level in a community. Which of the following measures gives an idea of how
precise is the estimate, i.c., the variability in estimating the actual mean folate level in
community, using a sample?

(1) Standard deviation (2) Variance

(3) Range (4) Standard error of mean

The accuracy in estimating the parameter increases with

(1) decr_qagin;aamplc size

(2) increl;n;ing variability

(3) inqea_m‘ng sample size and decreasing variability

(4) decreasing precision

Ten babies were born in a hospital—S babies were< 2-5 kg and 5 babies were >2-5 kg.
The suitable method for computing average here is

(1) Arithmetic mean (2) Geometric mean

(3) Median (4) Mode

Mean height of 10 female students of a class is 150 cm and mean height of 20 male
students is 175 cm. The mean height of all 30 students of the class will be

(1) 166 (2) 168 (3) 1666 4) 1668

Which measure of the central tendency is most suitable to determine rate of population
growth?

(1) Arithmetic mean ' (2) Geometric mean

(3) Harmonic mean (4) Median
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(3) Arithmetic mean ' (4) Geometric mean

When an instrument gives same reading every time in same conditions, it is
(1) sensitive  (2) accurate  (3) valid . (4) reliable
Reliability of a test does not imply _

(1) reproducibility (2) validity

(3) consistency - {4) repeatability

For confirming a disease in a patient, we will use

(1) highly sensitive test - d

R highly sperific test |

(3] test with high positive predictivity

() test with high negative predictivity

For comparing relative variation in Ht and Wt of chnldren the statistics to be calculated
is called

(1) mean - 2) range
(3) standard error 49 ‘ouﬂ_mt of variation

7 (P.T.0.)
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Mean and standard deviation of haemogiabi. level in 25 sick children are 8 mg% and
2 mg% respectively. Coefficient of variation in this sample will be

(1) 16% (2) 25% 3) 4% 4) 2%

The propartion of children under the age of 3 years who were underweight, was 52% in
the yecar 1988-89 in India.When the similar survey was repeated in 1992-93 the

proportion had apparently decreased. What appropriate method can be used to test
whether the proportion obtained later was significantly different from the former?

(1) Test for two proportions (2) Paired t-test

(3) Single proportion test - (4) Independent samples t-test

A study on the influence of excess fruit juice was carried-out in children between
6-8 years of age to see whether-their average height is increased by supplementation of
reported from other studies from the same population. What appropriate method
should be applied to test the influence of supplementation?

(1) Independent samples t-test (2) Paired t-test

(3) Test for difference in proportion (4) One sample t-test

To assess a new weight loss diet program, a group of 28 subjects, were weighed at the
entry of study and were advised to follow a prescribed Diet Chart. At the end of

3 months, subjects who underwent weight loss diet program, were weighed again to
study the effectiveness of the program. What statistical test shall be appropriate to test

the above hypothesis?
(1) Two sample t-test (unpaired) (2) Single proportion test
(3) One sample t-test (4) Paired t-test

The fixed cut-off based on sample size, for applying t-test, is that the sample size is less
than

(1) 60 2 2 _ (3) 15 (4) 30
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(1) mean deviation from median

(2) mean deviation from mghn

(3) stand q &.’;,mcm TS

(4 mean deviation from any arbitrary constant

(1) not change (2) increase (3) decrease (4) be unknown
b . . Bpoogya M- ..

Which quartile divides total frequencies in 3:1 ratio?

(1) First quartile (2) Second quartile

(3) Third quartile (4) Inter-quartile range

In a frequency curve of scores, if mode is found to be lower than mean, the distribution
shall be

(1) symmetrical (2) negatively skewed
(3) poeitively skewed _ (4) normal

.« lﬁg:t-idad skewed deviation causes when

(1) median is more than mean

(2) SD is more than variance

(3) frequency curve to have longer tail on right
(4) not affected at all '

9 WD)
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If each value of a given group of obsefvation’$s rivditiptied” by 10, then SD of ‘the
resulting observation will be

il ®

(1) original SD x 10 (2) original SD/10

e

16 ML
(3) original SD - 10 (4) original SD as such

EE LT

Incidence rate refers to
(1) old cases B (2) new casep

(3) existing cases | (4} Both old’and new cases

Which of t.i':e ft.)llowing is not tl;ue for the Matefnal Mo-rtality Ra‘ﬁo?
(1) It is based on deaths ¢f women of any age ‘

(2) It requires no. of live births

(3) It is based on deaths of women within 6 weeks of delivery

(4) It requires an assessment of cause of death |

Probability ranges between

(1) 1 and 2 (2) -1 and +1 (3) 0 and infinity (4) O and 1

The systolic BP in patients attending clinic was observed to have a mean of 160 mm Hg
with a SD of 20 mm Hg. Assuming distribution to be normal, what proportion of
patients is expected to have a systolic BP more than 140 mm Hg?

(1) 50% (2) 84% (3) 68% (4) 16%

It has been observed that probability of getting a boy is 06 and that of a girl is 0-4. For
a couple who is going to have two children, the probability of getting two boys, will be

(1) 016 (2) 024 (3) 0-48 (4) 036

10
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(1) compere means of two groups
@ mp'ah fnéans of several groups
(3) compare means of several variances

(4) compare several propurtions

In one-way analysis of variance, underlying group me¢ans are declnred significantly
different if, ..

(1) between group variability is amall and within group variability is large

. (3] between group variability is large and within group variability is small

(3) between group variability is equal to the within group variability
(4) between group variability is unequal to the within group variability

An investigator randomly assigned 10 patients to each of 4 different treatments to
study their effects on diastolic BP. The F-test was used to assess the mean response
between treatment groups. The degrees of freedom, attached to numerator and
denominator, for the F-test, will be

k& 10, 0 @49 . A3 3,36 @) 10, 40

S1.

ad =" Y I

In a standard normal curve, the ares between 1 SD on ejther side of the mean, will be

(1) 68% . . - (2) B3%. (3) 99 7% (4) None of the above

8 * Imestimation‘ef standwrd probability, the Z-score is applicable t6

(181)

-m normal distribution (2) skewed distribution
(3) binomial distribution (4) Poissan distribution

11 (P.16)
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A population study showed a mean ghacoéé of 86 rhg/dl: In a sample of 100 showing
normal curve, what % of people will have glucose above 86?

(1) 25 (2 75 (3) SO (4) 100

The standard normal distribution
(1) skewed to the left (2) has mean 1-0

(3) has zero SD (4) has variance =1

The correlation coefficient between X and ¥ will have + sign if
(1) X increases and Y decreases (2) Both X and Y increase

(3) X decreases and Y increases (4) there is no change in X as well as Y

Correlation coefficient

(1) can take any value between -1 and +1
(2) is always < -1
(3) is always > +1

(4) can never be 0

Correlation coefficient (r) between X and Y is 0:63. If X and Y both are multiplied by a

-constant 6, then correlation coefficient between two new variables, will be

(1) >0-63 : (2 <0-63
(3) =0-63 (4) cannot be calculated

If the two regression lines, Y on X and X on Y coincide, then their correlation
coefficient (r) will be

(1) r=+1o0r -1 | (2) r=0

(3) r=+0-50 or -0-50 @) -l<r<sl

12
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®: /When Ht(X) end Wt{Y) iti chiitdren arc perfectly corrélated, correlation coefficient (r)
m i epteeen N enlY Wil Be ' o

61.

(181)

(1) r=+1 (2 r=-1 (3) r_=‘0‘ . (4) >+1
If correlation coefficient (r) between Ht and Wt.is 2:6.true about r ia
(1) there is positive correlation
{3). - there is negative corselatioh

(3) no correlation exists bmxem Ht and Wt

(4) calculation of r is incorrect

The correlation coefficient between variables X and Y in a study was found to be 1-1.
This indicates, _

(1) strong positive correlation

(2) moderately strong positive correlation

(3) weak correlation

(4) computational mistake in calculating correlation

Central value of a set of 160 values can be obtained by
(1) 2nd tertile _ (2) 80th percentile
(3) 8th decile (4) 2nd quartile

For 70 smokers, age at atartdfnmdk‘ingwaareportedasranging from 11 years to 22
yoars, with only one person réporting 22 years. Later on, he changed it to 32 years.
This will change,
(1) ‘mean age at start of smoking
(A median age at start of smpking

S UL - LR o

(% medal age at start of smoking
9 quﬁhofagcataténofsmoldng

i3 8y
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64. An investigator wants to know similarity of peak flow .expiry ratcs, on an average,
amongst 4 groups—smokers, light smokers, moderate ssapkers and heavy smokers.
Which statistical test of significance, he should use?

(1) Two-way a.nalynia of variance (2) One-way analysis of variance
(3) Pearson’s correiation coefficient (4) Chi-square test

65. A drug was gwcn to 50 hypertensive patients. And diastolic BP was noted down before
and after giving the drug. To test whether the drug was effective or not i reducing
diastolic BP, the statistical test to be applied, will be, -

(1) analysis of variance
(2) studeﬂt's t-test for independent samples
(3) chi-square test

(4) paired t-test °

66. In a cross-sectional study on Coronary Artery Discase (CAD), smoking status and CAD
were summarized as under

Coronary Artery Disease (CAD)

Smoking Present Absent Total
Smokers. 55 84 139
Non smokers §52 1927 2479
Total 607 2011 2618

Which of the following tests is appropriate for testing association between
smoking and CAD?

(1) Student’s t-test (2) Chi-square test

(3) Sign test (4) .‘F-t'cst

(181) 14
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Which of the following is ‘the non-parametnc equ:valent of the one way ANOVA?
af s .
(1) Kruskal Wallis Test (2) thera Enct Test

(3) Friedman’s Test (4) Mann Whitney U-Test

The summary measures of skewed data are best represented graphically by
(1) histogram (2) Q-Q plot

(3) stem and.leaf . (4) box and whisker piot

For simpie random sampling, true is

(1) adjacent number is conn.idered~ for taking a sample

(2) each population unit has equal chance for being selected in the sample

(3) ecach portion of sample represents carresponding strata of the universe

(4) None of the above N |

The mean and SD of incubation period of measles in 25 children are 8 and 2 days
respectively. The standard error will be

(1) 040 (2) 10 (3 20 (4) 0-50

In a population of 100 pregnant females, Hb was estimated with a SD of 1 mg %. The
standard error shall be

(1) 10 (2) 010 3) o01 (4 WO

15 S % tPi'MJ
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74.

75-

76.

(181)

Mean Hb level in a sample;of 10Q prognant women waa.fawnd to be 10 mg % with a SD
of 10 mg %. The standard error of the estimate will be

a oo1 l'.(2)‘ 6-;1%3 - @) 100 (4) 100

Which one of the following is a non-parametric tfeat?

(‘1) Smdét'; ‘t:;test for indepgndmt samples

(2) F-test

(3) Wilcoxon Rank sum test

(4) Paired t-test

For testing statistical significance of difference of mean Body Mass Index (BMI) between
males (n'=10) and females (n = 12), appropriate statistical test (when form of the
distribution BMI values in both the sexes is not known) to be used, will be

(1) Wilcoxon Signed Rank Test (2) Fisher’s Exact Test

(3) Wilcoxon Rank Sum Test (4) Bartlett Test

The non-parametric test, analogous to the unpaired t-test is

(1) Kruskal Wallis test (2) Wilcoxon signed rank test

(3) Wilcoxon Rank Sum Test (4) Friedman test

Which statistical test do you suggest to test the equality of means from more than two
non-normal and independent data sets with sample sizes < 20 ?

(1) Student’s t-test (2) One-way ANOVA (paramctﬁc]
(3) Kruskal Wallis test (4) Friedman test

16
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The Mann Whitney U-test is also called
(1) Kruskal Wallis Test " (2 Wilcoxon Signed Rank Test
(3) Wilcoman: Rank Sum ‘l‘ut : ‘4) Pi¥édinan Test

Ou’nht:on ooeﬁaent (r) between two cunuﬂu&ﬂ Nriablea measures

YR

(1) the extent to which theyaredustaed

' T type and extent of linear relationship

(S) degree of non-linear rﬂnﬁona:iﬁp

(4) whether variables are mutually exclusive or not

e

Intb.eanalymofoorre.hnon between two quantitative variabies, the Scatter diagram is
mainly useful to study

() The pature of relationship -
(ii) The magnitude of relatienship
(iii) Functional relationship
(iv) Identify the outliers
ldentify correct option
(1) (@ and (i) ' : (2) (i) and (iv)

3 @ and (iv) .- - - M (), @) and (iv)

The correlation coefficient () lies between

(1) - infinity, + infinity 2 0,1
3) O, + infinity @) -1, +1

17 | (P.T.0.)
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The aim of simple regression analysis is to
(1) replace the dots in the Scatter diagram by a straight line
(2) measure the extent of relationship between the two variables

(3) describe the relationship in straight line form that best describes and enables
prediction of one variable in terms of other

(4) investigate linear relationship between two continuous variables
In a study of cardiovascular risk factors, 200 young adults, aged 26-32 years were

randomly selected. The relationship betweeh systolic BP (SBP) and body mass index

(BMI) was positive (P < 0-001) and the regression lme of SBP on BMI was reported to be,
SBP =90-4+0-74 BMI.

One can conclude from this regression line
(i) An unit increase in BMI is associated with 0-74 mm Hg of systolic BP

(i) The regression line would cross the vertical axls Y (SBP) at 904 when
BMI has zero value

(iii) Increase in BMI is associated with increase in SBP and the slope

(iv) Regression coefficient is the e.mnated chmgc in SBP per unit change
in BMI _

Indicate the correct option
(1) @) and () (2 (i) only
(3) (), () and (v) | @) @), (@), () and (v)
The degrees of freedom in a contingency table of 4x4 will be
(1) 4 ‘ 2 8 . 3 9 @) 16
Confidence limits refer to the |

(1) range and SD (2) median and SE
(3) mean and SE : (4) mode and SD

18
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(183)

(1) 210-250 (2) 220240  (3) 225235 4) 230-210

The BP of a group of persons was firat . detegmined and then, after an intervention trial,
it was determined again. The correct test of significance for determining the effect of
the intervention, will be

(1) chi-square test

(3 paired t-test

(3) student’s t-test for independent samples

(4) correlation coefficient

In a group of 100 children, mean weight is lSkgandtheSEofthewelghtm 15 kg.
Which one of the following is true?

(1) 95% children weigh between 12 and 18 kg

(2) 95% children weigh between 135 and 165 kg

(3) 99% children weigh between 12 and 18 kg

(4) 99% children weigh between 135 and 168 kg "

A group tested for a drug shows 60% improvement as against a standard drug,

showing 40% nnprovement The appropriate test for statistical significance of the
difference is )

(1) student’s t-test for independent samples
(3) chi-square test
(3) paired t-tedt

4 F-

19 (P.1.0.)
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90. A test was done to compare serum cholesterol levels in obese and non-obese women.
The test for significance of the difference will be

(1) paired t-test
(2) student’s t-test for independent samples
(3) chi-square test

(4) Fisher t-test

91. If we reject null hypothesis when it is true, it is called
(1) type I error (2) type II error
(3) power of the test (4) specificity

92. If the mean Hb level in a group of women is 13-5 gm/dl with a SD of 1'5 gm/dl. Then
for a women with Hb level of 150 gm/dl, the Z-score will be

(1) 9-0 (2) 100 " (3) 20 ‘ 4) 10

93. The chi-square test cannot be applied when
(1) expected cell frequency is less than 1
(2) sample size is more than 100
(3i three groupe are to be compared

(4) association between two factors is to be examined

94. In the multiple regression analysis, the term R indicates
(1) correlation coefficient (2) level of significance

(3) coefficient of determination (4) coefficient of variation

(181) - 20
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In case of quantitative dependent variakic and sepcrsl similar independent variahlos,

. the multi variable analysis, to be used to determine the role of independent variables, is

called ‘
(1) logistic regression smalysis (2) multiple linear regression analysis
(3). discriminant analysis (4) survival analysis

In the multiple regression analysis, the number of independent variables should be
(1) only two (2) only three
(3) more than one (4) only one

In multiple regression analysis, no. of dependent variables should be
(1) two (2) three (3) any number (4) one

In multiple regression model Y =alx1+a2x2+---; Y is called
(1) independent variable (2) dependent variable

(3) random variable (4) constant

In multiple regression model Y =alx1+a2x2+---; X1, X2, X3 are called
(1) independent variables (2) dependent variables

(3) random variables (4} constant

Which one of the following analyses, is not a multivariate analysis?

(1) Logistic regression (2) Multiple regression
) Multiple .correlation (4) One way “m%

21 (P.TO)
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108.

106.
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| (1) regrcmonana]ym (2) lcorrelaﬁon analysis

(3) studemt’a-f-test (4) Wikcoxon Rank Sum Test

If the distribution of the population is not known, which of the following test shall be
used?

(1) P-test (2) Student’s t-test

(3) ANOVA (4) The sign test

The sensitivity of the test is

(1) true positive/{true positive + false negative}
(2) true negative/{true negatives + false positive}
(3) false negative/{true negative + true positive}

(4) false negative/{true positive + false negative}

Incidence rate is measured in a

(1) case control study (2) Cohort study
(3) . cross-sectional study (4) crossover study
Incidence rate is calculated from

(1) rétroapcctivc study ‘(2) prospective study
(3) cross-sectional study (4)- random study
Specificity is related to

(1) true positive (2) true negative

(3) false positive (4) false negative

22



108.

109.

110.

14P/211/5

.. Which of the fellowing is the: best for calculating ineidence of the disease?

(fj Case éontrol study ‘(@) Cohort study - .
(3) Grosgrpectional study (4) On the spot study

A women exposed to multiple sex partners has 5 timeés fcreased risk for CaCx. The
attributable risk is '

(1) 20% (2) S0% - . (3) 80% | (4) 100%

Themhkbdawgiveauaeeningtutmuluofadiminrdaﬁonmtheuuedm
status of the popt¥ntioni being tested. '

Screening Test Results True Disease Status Total
Yes No.
Positive 400 200 - 600
Negative 100 600 - 700
Total 500 - 800 1300
The specificity of the test is
(1) 70% (2) 75% (3) 79% (4) 86%

The incidenck of ‘the diabétes in a"‘p'opulation is 10%. The chance that three persons
ldectedatrnndomﬁ'omthepopt_llatigq.will,ha,vegiq.beteqia

.. H T B

111.

(181)

(1) oo1 (2) 003 (3) 0001 - (4) 0003

In a Simple Random Sampling Without Replacement (SRSWOR), probability of
ﬂ_wt’m;a-pu:iﬁedunitﬁ'omapopulaﬁonofﬁzeNatthcrthdmwnhnﬂbe.
’ . aow UG e

() r/N () 1/(N-r) ), ¥ o1 20 ool BB ZL +H,

"
&

[ S ¥ -
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113.

113.

114,

118,

116.

(181)

Consider population having units S, 4, 3, 2 and 1. A saniple of size 2 is to be drawn
from it. In case of Simple Random Sampling Without Replacement (SRSWOR), the SE
of mean will be '

(1) 07746 (2) 0-8660 (3) 10000 " (4) 09229

The precision of a random sample

(1) decreases with increase in sample size
(2) increases with increase in sample size
(3) is nothing to do with sample size

(4) remains constant with increase/decrease in sample size

The sex ratio is defined as

(1) number of males per 1000 population
(2) number of females per 1000 population
(3) number of females per 1000 males

(4) number of males per 1000 females

The age and sex composition of a population can be described by
(1) demographic transition (2) population projection

(3) population density (4) population pyramid

The Infant Mortality Rate ﬂMR)b.is defined as the number of infants’ deaths in a
population duying one year

(1) per 1000 live births

(2) per 1000 population

(3) per 1000 women _

(4) per 1000 women of the reproductive age group
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117.

118.

119.

121.

(181)

14PJ211/$

The Crude Birth Rate (CBR) is defined as.the numbér of lve births in a popul&fn
during a year per 1000

(1) mid-year male population

(2) mid-year population

(3) mid-year female population

(4) mid-year women population of reproductive age group- -

The density of the population is-défined as

(1) total population/(divided by) land area

(2) land area/(divided by) total population

(3) land area + total population

(4) land area x total population

Standardization is a method of adjusting the event according to
(1) crude rate of the event (2) growtis Tate

(3) IMR , (4) age/sex structure
Expectation of life et birth .is ¢

(1) number of years most people tive

(2) average number of years of life
(3) number of years a person is expected to live

- (4 number of years most people are expected to live

Total fertility rate is derived from

. (1) age specific fertility rates I(2) grou reproducuon rate
) .. RN T BT ISP IR
(3) general fertility rate (4) net m ntc _

*ho"lu to. e o
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1323.

124,

128.

136.

(181)

Denominator of generab festility rate is

(1) all females

(2) mid-year female population of reproductive age group
(3) all females above the age of 15 years

(4) mid-year population -

Denominator of the Maternal Mortality Rate is

(1) total number of births

(2) mid-year population

(3) mid-year female population of reproductive age group

(4) total number of live births in the year

Two populations can be compared with

(1) proportional death rate (2) specific death rate

(3) standardized death rate (4) crude death rate

Infant Mortality Rate is concerned with deaths of children -
(1) below 1 month ' (2) below 1 year

(3) up to 1 year : (4) 28 days

General Fertility Rate is based on.

(1) mid-year women population of the reproductive age-group
(2) all married women of reproductive age group

(3) total number of live b'i.:th.s-

(4) total number of all births
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127. Guu:ral Fertility Rate is 4 better measure of, fartility: than: Crude Birth Ruté as.#ié

denominator is
NP Y4 IR RS Y

(1) mid-year women population of the reproductive age-group

boiiup.r nodar bns 2A 1
(2) mid-year population

e .r:mi m yomen mm'emf:;z_ :
(4) married women population

wis

128. Which of the following rates is not only an indicator of mortality but also of the

socio-economic cdamdtiion of the: community?
(1) Infant Mortality Rate | (2) Post-Neonatal Mortality Rate
(3) Maternal Mortality Rate (4) Specific Death Rate
129. " Bdic eveénts recorded by vital statistics are
(1) deaths only - . (2) births only

(3) divorces only (4) All of the above
130. Sample Registration System is done once in
HY m G-mopt_hg _ (2) 1 year (3) - 2 years (4) S years
131. Registration of births and deaths with 6 monthly survey is done in

(1) National Sample Survey (2) Vital Statistics System
“ 1291 91AUPE-110

(3) Census (4) Sample m m

(181) 27
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182. Populatidih Cemsus in India is done’

133.

134,

(181)

(1) every year (2) .every S years
. s = o " B T i
(3) every 10 years (4) As and when required

Following table gives results of a study on diagnosis of diati¢tes and its association with
regular exercise :

Regu{ar Diat
+we -ve Total
Yes 25 300 325
No 125 550 675
Total 150 " 850 1000

To test the statistical significance of the association between regular exercise
and diabetes, the appropriate statistical test will be

(1) chi-square test ‘ (2) paired t-test

(3) McNemar’s chi-square test (4) analysis of variance

To test the statistical significance of the difference between mean Hb levels of 50
pregnant and 100 non-pregnant women in the age group 25-35 years, assuming
equality of variances in two groups, the statistical test of significance, to be used is

(1) paired t-test

(2) student’s t-test for independent samples

(3) chi-square test

(4) analysis of variance
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138.

136.

(ae1)

14Pf21145

The following: deta pestsio to ameling babits in lumg. cancer patients and nortied
ﬂl’dectl

3 gy QOL Svb el

i (é:fb:g e e lLuﬂgCanoer - - |
No Total

_-Bmoltre:ca .. gt ot g 14
Non-smokers L2 LG 14 .18
Total L9 20 30

To test whether lung cancer m ugmﬁcantly associated mt.h umolnng habnt the
appropriate statistical test is - '

(1) chiiacfsare test (wit.h"correi:ﬁoh for continuity)
(2) Fisher’s exact test
(3) McNemar’s chi-square test

(4) chi-square test for trend

Age (years) and cholesterol values (mg%) of 6 men are listed below along with their
means and SD.

Age 25 80 65 90 60 75 Mean SD
Cholesterol 180 450 220 250 200 500 658 1384

The most appropriate method for studying correlation in the above data is

(1) Pearsen’s correlation coefficient

(2) Spearman’s rank correlation coefficient

(3) coefficient of variation

4) codﬁcimt of association
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137, . Rellovingiseq the number: of nulitia asés; repirted #2001 162010 :
Years 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010

dnyrl e o -

Cases 200 120 350 100 90 110 130 270 3000 200

Average of malaria cases per yca.r can be correctly computed by using
(1) arithmetic mean .t (2) mode
(3) median - (4) geometric mean
138. ' One of the fc')llowing is not a: atnfiatiéal _aof-twarc R o
(1) SPSS (2) SAS (3) Microsoft '(4) .SYSTAT
139. Expansion of SPSS is

(1) Statistical Package for Social Sciences
(2) Statistical Package for Social Scientists
(3) Science Package for Social Sciences

(4) Standard Package for Social Scientists

-

140. Expansion of SAS is
(1) Statistical Analysis Systems (2) Statistical Application Systems
(3) Statistical Studies (4) Standard Analysis Systems

141. The statistical software EPI Info was dcvclopeci by

(1) WHO
(2) UNICEF

(3) Centre for Disease Control, Atlanta
(4) ICMR

(181) 30
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143. What is not related ti Hobpital Sttistics?

(1) Admission rate a (2) Migration rate
(3) Discharge rate (4) Average duri.tion of atajf

143. The Registrar. General of India is responsible for
(1) census (2) medical research

(3) National Family Health Survey (4) medical education

144. The major health survey in India has been
(1) National Family Health Survey (NFHS)
) Census

3) Sample ngiatmtion Syntem (SRS)

P

¢4) Civil Registration System

148. The hospltal index that depends on the principle of point prevalence is

(1) admission rate ., (2) discharge rate
P T L e BELIFAIN s TUANE: O LN . N
bas taeitSh Gestiorate . o e (4)- qercentage of bed occupancy

4

el s AU

166. The threshold value of a méasiirable variable to diagnose a condition/discase can be

ewputed from | ybiste 1304 o dooh “
_J'!l“ frequen: ‘ (2) higeghempsisie £
| - (4) Scatter diagram

3\ ROC cusve P4 B

.w'j_“(,p'_. 1 31 {P.T.O.}I
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147.

148,

149,

150.

Sample size for testing a hyp?t.hcaia. shall be higher if we

(1) Consider only higher level of significance

(2) consider only higher power

(3) consider higher level of significance as well as higher power

(4) consider either higher level of significance or higher power

In the estimation of sample size in a cross-sectional study on a prevalence of a disease,
the information required are

(1) only a rough estimate of the prevalence of disease

(2) only the amount of error, investigator would like to aFcept in the estimate

(3) Both (1) and (2) as above '

(4) Both (1) and (2) and the confidence level required in the estimation

If the association between a factor (A) and occurrence of the disease can be explained
by another factor (B), then factor B is called

(1) constant (2) concomitant variable

(3) confounder ' 4) chanée variable

An investigator—trying to study the effect of asbestos exposure on lung cancer, collects
relevant data on asbestos expostire retrospectively on 200 lung cancer patient and
200 persons without lung cancer. Assuming that the two groups are otherwi

comparable, the study design the investigator has used is rse

(1) cross-sectional study design (2) Cohort study design

(3) experimental study w (4) case controy Swudy -asmgn

82 D/4(181)—400
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